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i, Theoxidation number and valency of the carbon ato

) min CHIC]:
are respectively,
(1) -2and 4 (2)+2 and 4 (3)0and 4
(4) +4and0 (5) 0 and +2

2. Which ofthe following statements is incorrect regarding isotopes
of an clement? ,
They have

(1) the same number of electrons.
(2) the same density

(3) similar chemical properties
(4) different numbers of neutrons
(5) the same number of protons

3. Which arrangement of compounds given below. gives the correct
increasing order of boiling points?
(1) CHLCH,CH,CH,CH, <CH,CH COCH,<CH,CH,COOH<CH,CH,CH,CHOH
(2) CH,CH,CH,CH,CH,<CH,CH,COOH<CH,CH,COCH,<CH,CH,CH CHOH
(3) CH,CH,COCH,<CH,CH,CH,CH,CH,<CH,CH,CH,CH,OH<CH CH,COOH
(4) CH,CH,COCH, <CH CH,COOH<Ci1,CH,C1H CHLOH<CH,CH,CH,CH CH,
(5) CH,CH,CH,CH CH,<CH,CH COCH,<CH,CH,CH CH,0H<CH,CH COOH
4. The valence shell electronic configuration of an eiement showing
the valencies 2 and 4 only in its compounds
(1) 3d*4s? (2) 2s'2p* (3) 2s2p?
(4) 3s3p* (5) 3s'3p

Which of the following will not colour the CCl, layer violet
when shaken with CCl, and an acidified solution of K1?

(1) CrO} (2) MnO, (3) HBr
(4) KO, (5) Ca(0Cl),
6 Which one of the following molecules has the largest dipole
moment?
m c Cl @ Q
N Nva
C=C c=C «
N\ W Na
¥ cl 4) Cl a
DN N/
/ C=C C= C\
v’ \Ci B Br
15) | . B
N,
C=¢C
TN
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l I ) relative molar mass
7. The mass of K,SO,.Cr,(S0,}, 24H,0 ( el

= 894) required to prepare 1.00 dm’ of

(1 ppm = 1 mg dm-3 ; Cr = 52.0) is.
(1)8.940 mg (2)8.940 ¢ (3) 17.88 mg
(4) 178.8 mg (5) 89.40 mg

8. Which of the following cations o
(i) gives a precipitate with NH O, insoi
(i) gives a precipitate with dilute NaG. insolu )
()Fe*  (Za* (AP (@ Cu" (NI

luble in cxcess and
ble in excess?

9. Which one of the following pairs contains species with different
shapes? ]
(1) CO,, BeCl, (2) PO}, S,00  (3)NO;. 50,

(4) HOBr, H S (5) NC,, BC,

16. What is IUPAC name of the following compound?
|
CH]-—JDH-—C =C-—-CH;-OH
(1) 2-lodo-3-Pentyn-5-ol
(2) 4-fodopent-2-yne-1-ol
(3) 1-Hydroxy-4-iodo-2-Pentyne
(4) 2-lodo-5-hydroxy-3-pentyne
(5) 4-lodo-2-Pentyn-1-ol

I'1. The pair of eiements forming dioxides, which are solids at room
temperature is, _ :
(HMnCuy  (2)MnS (3)Cu,Ni (4 TiSi (5)S.N

12. The cation that forms a hydroxide which readily reacts with
oxygen under basic conditions is,
(1) G {(2) Cu”  (3)Co¥™ (4) Mn* (5) Fe*

13. Solubilities of four organic compounds A,B,C and D in water
and in an aqueous solution of 5% HCI are given below

A B C )]
Water Insoluble [nsoluble Insoluble insoluble
5% HCI Insoluble soluble Insoluble insoluble

Which one of the following rows of compounds (1) to (5) is
consistent with the above observations?

~ A [ R C )

(1) CH,CH,0OH CH,CHNH, | CH.COOH Q_ _
. : . OH

2) CH,CH,OH CHCHNH, ™Yy CH COOH

(3) i _)-OK| CH.CHNH, C, H,0OH CH,COONH

4) CH OH CH N 1

(4) CH,, oH,,NH, Q_CSHH—O—OH CH, COOH

i(s) C.H,,NH, C, H;; CH C,H, COOH Cc.HHOH___

14. A 30.0 mg sample of a volatile liquid is vaporised at 127°C. The
voiume of the vapour phase measured a1 .00 X10*Pais ZL6.65

1 1fthe va e i , PR
cm’. If the vapour phase behaves ideally, the liquic is most

likely to be

(H=10, C=120, 0=i60, cCI=355)

(1) methanol (2) ethanol (3) acetone
" (4) chloroform (5) carbon tetrachloride

15. The energy released in the process
X(g)+e = X(g) islowest when X is
(1YLi {2} Be T n .. )
Scanned with CamScanner



is nottrueregardinglhc

16. Which one of the following stnlcments.

ions N, O* and F
(1)They have the s
(2)Nuclicar charge

ame electronic conﬁfumli:_az =

follows the order N < 0115 e

(3)They have the sam¢ number o]r_ ﬂcgi-ri"; .

(4) Their radii follow lt?e order N S i

(5)Compounds containing these 10nS fii
with the respective gases. N, O,and I,

d when Li reacts

; jves the correct
17 Which arrangement of compounds given below, gIve

: . 07
increasing order of acid strengt .
(1)C,H,0H<CH,COOH < CH,CH =CH, -ﬁ(cg,CCZCCH
(2)CH,CH=CH, < C,H,OH (?HCE’ES?:EOH :’jc i
(3)CH,CH =CH, < CH,C = ! H,
(4)CH.C= CH< CH,CH =CH, < CH,OH < c[l;laggg:
(5)CH, CH=CH, < CH,C = CH < CH,OH < CH,

: <3
18. A 10.0 cm’ sample of coconut vinegar (density = 1.07 gcm )
was titrated with a 0.428 mol dm™” NaOH solution, using a
suitable indicator. If the end point was 25.00 cm’, the mass
percentage (w/w%) of acetic acid (relative molar mass of
CH.COOH = 60.0) in the vinegar, IS _
(130.060  (2)0.60 (3)3.0 460  (5)12.0

19. Which one of the following statements is not true about

hybridisation?

{1)Hybrid orbitals formed from a given hybridisation have the
same shape.

(2)Hybnid orbitals may form m bonds.

(3)The angle between sp? hybrid orbitals is 120"

(4)All carbon atoms in hydrocarbons are hybridised.

(3)Hybrid orbitals formed from a given hybridisation have the
same energy.

20. The polymer which reacts most readily with Br, is
{1)natural rubber {2) PVC
(3)phenol-formaldehyde polymer (4) poly(styrena)
(5) poly(ethylene)

21. Consider the following compounds

NH, NH, NH, NH
@ @CH‘ i 2
02
: NO,
a b % :

d

Which arrangement of the compounds a,b. c and d given bélow

;gwes utr:e correct increasing order of base strength? ‘

1) a<b<c<d (2) d<c<b<a ) d<c

(3) c<d<a<b (3) b<a<c<d () dsesacy

22 'IA'J:-: standard clectrode potential of the metal/metal-ion eletrodes
Wh{_aﬂJ A anq B”{E_iqu’B are -0.75 Vand -1 o v respectively
i ;c; O.ﬂhc 1ollowm_g Statements is incorrect regarding a cc‘Il
w; ructed by combing the above two standard electrodes

€N acurrent is drawn from the cej|? -

(1) In the external circuit current flows from BioA

g% ?rl:io:;s.movc lowards the B*(aq) /B electrode
¢ AT(aq)/A electrode is the cathode., -

S.:s of the meal B decreases with time

N occurs at the B"{aq)!B electrode -

23 Which two aqueous solutions of the foll

precipitate when mixed together? owing will not form a
(A) BaCl, (B) MgSO
. (B)Ph
(1) Aand B 2 NOY, (D) NH 01
/ (2)AandC
i4) Cand D (5)A and D (3)BandC
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24.

25.

26.

27.

28

29.

ies of C= N and C-N bonds are 83
T“Vccrg The most reasonable valye fo, theil"d 3
- )yof C=Nbond is, Avepy !

R
(2) (837+ 347),, é

Average bond
kJ mol"! respec §
bond cnergy (KJ mol

(1) 837 -347
(3) 837x 3 (4) 3474+ ”iilz_-_gi-n
(5) 347x2

' : inside a vesscl containing gag x .
25°C the pressure st (ESsEL aining g is 1,
Q‘di-:snciﬂtcs when exposed to UV light resulting i 1y, I'ni!m:ljm'
A Qisstt fip
equilibrium. R
3X(g) === 3Q)+2R (@

i n equilibrium is reached at 25C y,,
It is found that when equl ! .
in the vessel is 13 atm. The percentage of X d Ccompoge, ;;me
equlibrium is ‘
M7 @15 B30 @10 (54

Organic compound A contains C,H and N only, The COmpley,
combustion of 0.88 g of A gave 1.76 g of CO, and | gg ROfH g
In a separate experiment, 0.88 g of A gave 0.34 o of‘NHT M
(C=12.0, H=1.0, N=14.0, 0=16.0)

Which of the following statements is the most appropriate

deduction. '

(1) A isasaturated compound »-wth molecular formyjg >

(2) A isan aliphatic diamine w:th_moiccu]ar formula C4H15‘J 1

(3) A is an unsaturated compound with molecular formylq CH N

(4) A is an aliphatic diamine with molecular formula CsHl-ili 2

(5) The data provided above is insufficient to determine ‘Izlez
molecular formula of A. .

Solution § is prepared by mixing equal volumes of (.2 mol dm?*
aqueous H,80, and 0.2 mol dm™* aqueous CH,COOH, 250 ¢y
portions of § are titrated separately with 0.1 mo] dm> NaOH
solution (in burette) using (A) phenolphthalein and (B) Melhy]
orange as indicators. The end - points of the two titrations are
respectively

(1) (A) 75.0 cm® (B)25.0 cmy?

(2) (A)25.0cm’® (B)25.0 cm®

(3) () 75.0 em*(B)50.0 cm?

(4) (A) 50.0 cm® (B) 75.0 cm®

(5) (A) 25.0 e’ (B)50.0 cm?

Which one of the following observations eannot be explained
by using the electrochemical series?

(1) Reducing ability of K is more than that of Na.

(2) F, is more easily reduced than Cl..

(3) Cu™(aq) formsa complex with Cl(aq) while Mg* (aq) doesnot
(4) Fe can be oxidized by H*(aq)

(5) Mg can displace Cy from an aqueous solution of CuSO,

Solutions A to D are

A- 10.0 o prepared as follows
= 10.0 cm

of 0.1 mol dm? aqueous NH_ OH +10.0 cmof

2
B-10.0 cm? of )

mol dm? aqueous NH OH +10.0 cm”of
0.15 mol dm» 4

Sip dqueous NH Cj i
L ¢m”of 0.1 mol gy aqueous NI OH +10.0 cm’of
. 'blg mu: dm” aqueoys (NH,),S0, :
00 ¢m*of 0.1 mo) dpy aqueous NH,OH +10.0 cm’of
{05 mol dm» aqueous NH OH

The corregy ; _
(1) RCEA?:Z;IEI of the pH of the solutions A 1o D is

2)p< C<BAD
(4) B<A<C<p {5)) A< £:gq;3 '(31
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10, The _l-ulu:mr i m]m!ned on the Bungey fame 1
a1 H ad o ' 4
resuits from the Hght eNCTRY released whep {\;1 metal atomg
o the ground state (enerp ¢ electrons regyrn

Y=, froy )
{enerpy = €, ). The ame cn]m‘]'rl 01?5::1‘(: Ist excite state
: Cotoms gre pj

Riven

below

Li-red. Cu-green, Np-.
The correct order ofe -¢
(n Li>Ct}>Nn}K (2) Na>Lisksc

(3) Cu}L:>T~!n3‘K () K>CusNg> i
(5) Na=K>Li=Cu Sl

yellow, x . violet
+ for the toms s

31, Which ofth.e alcohols is the mest difficult to oxidise wi
acidic solution of potassiym dichromate? -0 Oxidise with an

OH

™ @ o
CH‘-I(E—— CH, CH, CH, QHCHCH,

CH CH,

CH,CHCH,CH,
G RCH (4)  CH.CHCH.CH,OH

CH,OH o

;- EH
(5) - CHy=G—CHCH,
0 CH

32. The most convenient method to prepar
solution of NaOH at home is FEEECLESon Al pre
(1) heating a solution of common sait with slaked lime
(2) heating a solution of baking soda with slaked lime.

(3) heating a solution of washing soda with limestone.
(4) electrolysing a solution of common salt using Fe ¢lectrodes.
(5) heating a solution of washing soda with slaked lime,

33. Which one of the following statements is true? .
(1) Therate of an expthermic reaction decreases with increasing
lemperature. ' :
(2)The rate of an endothermic reaction increases with increasing
temperature.
. (3) Temperature has no effect on solid-state reactions.
-(4) A catalyst converts an endothermic reaction to an
exothermic one,
(5) A catalyst decreascs the enthalpy change of a reaction. ;" -

34, The pl’oduc-i that results when 2-butanone is first treated with
-LiAIH, followed by hydrolysis with duterium oxide (D,0) is

(1) ED (2) fl-l
CH,CDCH CH, _ CH,CDCH,CH,
oD OH
) o @ i ducncn

CHlC’HCH’CH. CH,CHCH,CH,

(5) CH,CD,CH,CH,

35. When 50.0 em?® of 0.1 mol dm™ H,50, solution IS adch the
gradually to 25.0 cm® of 0.1 moi dm? Ba{Ol'll); Sop?m{;“:;\.vn by
variation of the total number of jons in the mixture 1S ’

(n (2)
Total
number
of iong __S_I,}—¢-
0 23

A/L"Chemistry - Past Paper' 2606 - APril

s e
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&) a

o35 50 20
(5)
—35 30

Volume of H,S0, added/ cm! —*

36. The function of the FeBr, catalyst in the reaction of bromine

and benzene is to

(1) serve as aradical initiator to generate Br
(2) stabilize the carbocation intermediate.
(3) destabilize the carbocation intecrmediate
(4) actasa Lewis acid to activate bromine.
(5) act as a Lewis acid to activate benzene.

37. Which one of the following statements is not true? (K, = 1.ON
10" moPdm* at 25°C; K_= 1.0x 10" moldm™at 80"C: Ignore
the effect of dissolved CO,}

(1) Purc water at 25'C has a pHof 7

(2} Chlorinated water has a pH less than 7.

(3) When a 0.1 mol dm* solution of 11.SO, is titrated with a
0.2 mol dm" solution of NaGH a1 25"C. the pH rises to 7m
the end point.

{4) When a 0.1 mol dm~ solution of H,SO, is titrated with a
0.2 mol dm™ solution of NaOH at 80"C, the pH rises to 6 at

the end point.
(5) The volume of 0.2 mol dm? NaOH required for the titration
of 10.0 cin® of 0.1 mol dm* H,S0, is less at 80°C than that

required at 25°C.

-38. Which of the following is not a pair of resonance structures?

H
(1} éE @(:'L
NO, NO.

0 0]
@ CH,O-O—C‘;H cHO-O-C_
1 H

“H H,
O O sO-X_
CH, H,
ClH, l]*l CEH, H
!
(4) cH,—C—C—H CH;—C-——(I‘—H
! @ @
CH, Cit,

5 o P

Use the following passage to answer questions 39 and 40.

A and B are two liquids that give idcal solutions. A solution ol &
and B is in equilibrium with its vapour. X, and X, ure the mole
fractions of A and B respectively in the liquid phase while Y
and Y, are the corresponding values for the vapour phase. 'y,

the vapour pressure of pure A, is larger than P, the vapour
pressure of pure B.

—_— .
Cadanma Duhlichnr
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: e essel and
39. 3umol of A and 20 miol of B nre placed inan '-'vgt:[::;irls Which
an equilibrium between liquid and vapour l‘:""_-l P
one of the following is true for the nlmv:; '\:;( ond ¥ <X,
(1) X,=0.6 and }\'“‘-ﬂ{-i tz}vﬁ{x.ﬂ and X“{,‘,u
(3) X<V, and X <Y, ()Y, =Xy 0
(5) X, <V, md Y <X,

- . tiue for any
40. Which unc of the following statements is not v
binary solution of A and B7 ) )
: increnses.
(1) The partial vapour pressure of A decreascs as )}ég s
(2) The partial vapour pressurc of B decreascs ui i el
(3) For a given X, the total vapour pressure is RIg
either p” or p*.
1 " increa i SeS,

(4) The total vapour pressure increases as X, |ncr;:{a e
(5) The total vapour pressure decreases decreasesas Ay ascs.

§ Instructions for questions Me. 41 to 50 :

For each of the questions 41 to 50, four responses (a), (). ("’:
and (d) are given: one or more is/ are correct. Selcct‘ the correc
response/responses.  In accordance with  the  instructions
given on your answer sheet, mark.

(1) ifonly (@) and (b) are correct.

(2) if only (b) and (c) are correct.

(3) if only (¢) and (d) are correct.

(4) ifonly (@) and (a) are correct. ‘

{5) if any other number or combination of responses 15 correct.

- |
Summary of above Instructions
(1) (2) (3) (4) (5)

Only (@) | Only 3 | Only (¢ Only (d) Any other

and (b) are| and fc) are |and {d) are! and (a) are number or
correct, correct, | correct. correct. | combination ) of

responses is

correct.

41. Which of the following statements is/are incorrect?
(a) All transition elements are metals.
(b) Ail metals conduct electricity,
(c) No nonmetal conducts electricity.
(d) All metals are solids at room temperature,

42. Which of the following statements is/are true?
{a) Bohr Theory is a nuclear model of the atom.
{b) Rutherford proposed the first nuclear model of
(c) Electrons do not behave as wav
the same time,
(d) elm ratio of cathode rays varies with the gas inside a
cathode ray tube.

the atom.
es and particles al one and

43. Which of the following statemen
elements Zn, Cu and Ni?
(a) They are d-blook elements.
(b) Solutions containin
(NH),S.
(¢) They liberate H, from dilute acids,
{d) Their oxides dissolve in NH,OH.

ts is/are applicable to all three

g their ions form precipitates with

44 Which of the following mechanistic sleps is/are feasible?

(a) CHj\CH CH?\
+ Bt —— CH+ HBr
CH cH;”

(b) CHy_ CHy

CHBr— CH" + Br
cH C

1 3

Sadeepa Publisher 0.4
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] B :}l,

r - 1

(© 1 + B 1
O Mg*

(d) o,
\CI-I. + CH MpBr— CH,

H OH

45. Which of the following statements isfare true? |
. (a) The compressibility of all real gases approaches unity y

low pressurc. .
(b) If the pressure is high enough any real gas can be liquefieg

at room temperature.
(¢} Under identical conditions of temperature and volume, the

pressure of an ideal gas is lower than that ol a rea! pas,
(d) At sufficiently low temperaturcs, any real gas can show »

compressibility less than unity.

46. Consider the following equilibrium at 150"C
A(g)+ B(g) = P{g) + Q(g): AHY = -30.0k) mol"
Which of the following statements is/are true for the above
system when the temperature is raised to 250 °C?
(a) Initially the rate of the forward reaction rises faster than
that of the reverse reaction,
(b) Initially the rate of the reverse reaction rises faster than
that of the forward reaction.
{c) Initially both forward and reverse reaction rates increase
by the same factor.
(d) Atequilibrium,
Rate of the forward reaction at 250"C - Rate of the reverse reaction at 250°C
Rate of the reverse reaction a1 150°C

Rate of the forward reaction at 150°C

47. Consider the following compounds -

CHO
HO
CH, @
: OH

Citronellal Eugenol Cinnamaldehyde

Which the following statements is/are corrcel?

(a) Citronellal, which is present in citronella oil. affects the
plane of poiarized light.

(b) Eugenol. which is the major compound of clove oil, is used
in dentistry.

(c) Eugenol, which is also the major compound of cinnamon
bark oil, shows both geometric and optical isomerism.

(d) Cinnamaldehyde. which is used as a flavouring agent in
food industry, is the major compound of cinnamon leaf oil.

48. Which of the following statements is/are correct?

(a) There isa rapid change of pH near the end-point of an acid-
base titration.

(b) There is a rapid change of pH at the beginning of an acid -
base titration.

(c) InMnO; - oxalic acid titration, the colour change at the cad-
point is due to a rapid change of pH.

(d) Diphenylaminc is used as the indicator in the titration
between Fe?* and Cr,0}

49. Which of the following statements is/are not true regarding the
preparation of ethanol (boiling point 78.1'C) from sugar
(sucrose, C, H, O, ) by fermentation using yeast? ol
(a) Onemole of sugar is expected to provide 4 moles of ethd

and 4 moles of carbon dioxide.

_——_'P'_ﬂ-"——T
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=
cample ofan ideal gas?
= es

g) C? increas
b) c? jncrease
. E: increase
d) Cin
the samp

s"-;jflions

n question

of each question.

From the
nses

statem

ately on your answer sheet.

pcentrations of ethanol inhibit the fermentation and
cntration of ethanol in the fermentation product

ntrated ethanol can be isolated by distillation of
{ the fermentation broth, and the fraction
78-80"C would contain 100% cthanol,

s distilled nt lemperatures over B8°C contain
oil which consists ol higher alcohols,

ic molecular theory equation for an ideal gas is
'mNE’- Which of the foilowing statements is/are true for

with p at constant temperaturc

s with V at constant temperature.

5 with tempcrature,

creases if more molecuics of the gas are introduced into
le at constant temperature,

for questions No. 51 to 60
s No. 51 10 60, two statements are given in respect
Table given below, select the response out of the

(1), (2), (3). (4) and (5) that best fits the two
ents given for each of the questions and mark appropri

—-i;’m—__ First Statemfnt Second Stztement
-—m"—*'__ True True, and correctly explains the
first statement.
@) True True, but does mot expiain the
first statement correctly.
T True False !
'_[;3_ , False True
(5) False False

| F ir_st_Statcm ent

Secﬁﬁ Statement

"When bromine-water is
shaken with hexene and
benzene, the colour of the
bromine is transferred to
the organic layer.

Bromine is more soluble in ben-
zene than in water.

At constant temperature,
the rate of hydrogenation
of ethylenc on Ni catalyst
should be the same as that
Lon Pd catalyst.

At constant temperature, rate
of hydrogenation depends only
on the initial concentration of
the reactants.

F:O*_can{ not only be
re uced 1o FeO, but can
also bcnxidi_sed to Fe,0,.

Fe,0, contains both Fe'* and
Fe'*

_thn a molecule of an

ideal gas bounces off the

wall of the container, the

I:nﬂme"t“m of the molecule
ges.

When a molecule bounces off
the wall, its speed as well as the
direction of motion changes.

—

N ce
O chloride is more

Sol uble in .
| water conc. HCl than in

Due to the common ion effect
exerted by the large CI concen-
rration in conc. HCL the
solubilities of all chlorides

decrease in this acid.
R

-’

\-—_ ’
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56,7 The — i

t'| rl::t‘ slznmlnnil_t:i'::hnlpy of | Aselements are notin a chemi-
formation ofaif elements is | cally  combined  state, their
taken as zero. enthalpics of formation cqual
— fero,

57.1 The 1rﬁll.: of the gnﬂcmlsl Al constanl temperaturc, the
reaction A(g) — B(g). | number of collisions hetween
remains constant as long as | feactant molecules as well as
the lemperature remains | the fraction of molecules with
constant, sufficient cnergy for reaction

remains constant.
! .

38. ];l‘ e alomic spectrum of | The cnergy associated withg

hydrogen isa line spectrum. | each linc of the spectrum is
cqual to the encrgy of the
clectronic level corresponding

. to the linc.

59.| Whe i
ous :;:lll:ii[;]; ﬁlﬁgcﬂq‘:}:‘; When the [* concentration ol a
POH also changes by the solution changes. the O
same number of units conceniration also changes by

' the same amount.
e -

50. C:ia]vamsmg is a conve- | Galvanising can be done by
nient process for making | jmmersing a picce of iron inan |
iron corrosion resistant. | aqucous solution of ZnCl,.




